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=LZ\CA 62.6 BRE 62.6 1,620 1,296 972 0] A
IZACA 11.7 ERE 10.0 2,160 — 1,836 10 A M
IZALA f = 0.5 — 1,404 — 10 L
ZIES5 7.6 BRE 7.4 389 — 383 1 A LL
ZIES5 N 0.1 4,050 3,888 3,564 4 LL
f-lITDC 0.3 ElG 0.2 1,296 — 864 4 A LL
[E<E0LY 40.1 ERE 11.1 - 1,080 - 15[ A 6
[F<E0Y £ & 285 — 1,080 - 15 A 6
HTE 15 2 0.9 1,836 648 648 4 A L
CEOH 6.4 BRE 4.0 1,296 — 1,080 4f A M
FrRY 74.6 ERE 72.4 1,080 1,080 864 10 8
IE5SNAZES 2.8 2 [ 1.4 1,944 1,782 1,620 6] A L
hE 8.2 BRE 4.1 1,080 918 864 3l A LL
h= E 15 0.3 1,296 — 1,188 3 vay L
_hE 1.4 = B 0.9 2,268 1,944 1,944 3 M
SE 0.1 BRE 0.1 972 281 281 1
125 2.3 =l 1.1 3,240 2,970 2,700 5] A M
+)L)— 0.6 2 [ 0.4 3,240 — 3,024 0] A L
T RINGH R 0.9
HhI757— 0.6 EES 0.4 1,404 918 918 6] A 6
Jowal)— 12.4
LAR 34.7 BRE 0.7 1,080 1,080 540 1 A M
LAR E 15 26.7 - 756 — 0] A 12
FoTHA 1.3 2 [ 0.6 - 972 — 3l A L
=p5Y 115 ERE 7.7 1,901 1,296 1,080 5] A L
=p5Y ElG 3.8 1,944 1,404 1,404 5] A M
ANESSED) 0.4
Y 3.2 BRE 0.1 — 1,512 — 4f A LL
B B K 27 - 1,728 - 5 L
k< 12.4 BRE 7.8 1512 1,296 1,134 4 B L
k< BE X 4.3 - 1,026 - 4 L
I=kTh 8.0 BRE 7.0 140 86 81 02 A M
= =I5 0.6 119 — 97 02| A M
E—<> 7.6 IR 7.3 5,832 4212 4212 7.8 A M
93 0.1 EYEY — 81 — 0.1
IZH5Y 0.5 BRE 0.3 2,700 2484 2,333 3l A L
[ZA5Y =I5 0.1 3,456 — 3,240 6] A M
SPVAITFA
SPZAES 2.0 BRE 2.0 594 - 540 1 A
E—X 0.2 BRE 0.2 — 1,620 — 2l A L
ZTHEDH 0.3 BRE 0.3 432 - 216 2l A S
MrAL& 3.4 E X 2.9 2,160 2,160 1,944 5 S
[ESARYONS 65.4 BRE 65.4 2,052 1,620 1,620 0] A 4L
TN E X 2,484 - 2,160 5] vay
AL 1.4 JtiEE 0.6 — 4320 — 10 4L
f=FEh&E 30.0 BRE 3.3 2,160 - 1,944 0] A L
f=FEh&E JeiEE 26.3 3,024 2484 2,484 20 L
IZAIZK 0.9 ol 0.6 5,616 — 5,184 10 4L
5oELD 0.2 BRE 0.2 216 - 184 0.15
EBLEIN 0.5 K & 0.2 3,888 3,888 3,780 4
HELLV=IT 1.5 ElG 1.0 97 97 65 0.1 A M
ZDEET 3.4 K & 1.6 41 27 27 0.1 A
ZDEET BE X 0.8 - 27 - 0.1 A
LHL 1.0 2 [ 1.0 — 70 - 0.2
ESES T 426.4
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HED2HAMA 2.0 BRE 2.0 2,376 — 2,160 10 vay L
LEAIA 0.5
IEo&< 0.3 EIR - - - PR
LEY 0.8 TA)H 0.8 7,560 — 5,881 17 140
INLULT 1.3 TA)H 1.3 7,884 7,560 7,344 17 88
L7y 0.1 = 0.1 6,480 — 6,264 15 35
BR 4.2 EIR — - - PR
BR = B 3.2 3,240 2,484 2,484 10 vay L
HEE 1.3 =0 1.2 5,400 4,320 4,320 10 vay M
Lo 1.0 BRE 0.1 — 2,592 — 5 20
Lo & B 0.9 2,700 — 2,268 10 VED)
HmohrAED 6.1 ERE 4.3 - 2,160 — 0] A M
T=AhA 1.1
YATE 8.8
PEPE=IY 0.2 5 # 0.2 - 6,480 — 10[ 7hva 36
AL 8.0 "5 & 8.0 7,020 7,020 5,400 10[ MA 40
% 0.7 "5 & 0.7 6,480 4,968 4,968 10[ MA
Uh E 5 - 1,620 - 05| 74¥a L
W5 49 BRE 2.8 378 302 302 025 A LL
AOVEF 1.9
7—ILR 0.8 BRE 0.8 4,104 — 3,888 4 Loy 3L
ZFDAOY 1.2 BERE 0.5 — 6,480 — gl A M
FLHE 14
ERAY 1.4 HE 1.4 8,208 7,776 5,400 12] vay L
INFF 8.9 EYEY 8.6 4536 3,791 3,348 15
NAFyFTIL 5.3 EYEY 4.7 2,700 2,700 2,268 10
FoA4T)LY 40 —T 3.7 335 — 324 0.4
RERE 54.1




